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Which of the following is ol a shift factor of demand curve ¥
(1) Price of substitutes

(2] Price of the commaodity under observation
(4 Income of consumer
(4} Tastes and prefercneez of consumer

Which of the fullowing is a relevant messure of responsiveness of demand, if
the changes in price are not small 7

i1 Point clastivity of demand

(2) Proportional elasticity of demand

13) Total elasticity of demand

(4] Arc elasticity of demand

Which of the following statements about the price demand curve isfure true Y
IA) In case of Giffen goods, the price demand curve has a positive slope
i3 In ease of normaul goods, the price demand ecurve has a positive slope
1C) In case of inferior goods, the price demand corve has o negalive slope
D) In eaze of luxury goods, the price demand ecurve has a positive slope
Choose the correct answer ;

(1] {A) and (B) only (2] iB)] and (T} only

{3) (D) only (4] tA) and (I only

Samuelson established the inverse relationship between price amd quantity
demanded by assurming @

(1) Income elasticity of demand i= noegative
(2 Marginal utility of money i1s constant
() Income elasticity of demand is positive
i) tility is independent

Assertion (A) : Indifference curves are concave to the origin if X and Y
commodities are imperfeclt substitules,

Reason (R) : MRSxy diminizhes if X and Y eommodities are imperfect substitutes
Choose the rcorrect answer |

(1} {A) and (R) are ltrue, But (R) s not the correct reason for (A)

£2) (A} and (R) are true, (R} is the correct reason for (A)

(3) (A) 1s true, but (R) ig false

(4] (A} is false, but (K} 18 true

In relation o indifference curve analysis, monomania implies

(1) A situation in which a consumer spends all his’her ineome on one commodity

(2) A situation in which a consumer spends all his/hor income an two
commodilies

(3) Interor solution Lo econsumer equilibrium

(4] Equilibrium with commodity space between two azes
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Maich the following Set-X with Set-Y

=et-X : Extent of substitutability Set-Y : Type of Isoguant
of lactors of production

(A)  PFactors of production are il Activity analysis Isoquant
perfect substilutes

(B!  Substitution of factors is (I}  Input-output Isoguant
possible only over a range

(C) Factors of production are (111} Smooth convex lsoguant
fixed coefficients

(D} Limited substilutability of {(IV) Linear Isoquant
factors of produclion

Choose the correct answer |

{1 A-11 B-1 C-III D-IV
(2 ALV B-III C-II D-1
{(3) ALV B-IIT C-1 D-11
(4] A-11 B-1V C-1 D-III
(Given the price function, P = a — bz, the marginal revenue function is :
(1) @ — ba? (20 @ - 2bx?
(3 i — bx (4] a — 2bx

Which of the following statements about economies of scale is/are frue 7

{A) Internal cconomiea of scale affect the chape of short run cost curves only
(B) Internal economies of scale affect the shape of long run ecost curves only
()  External economies of scale will shift the short run cost curves only

(D) External economies of scale will affect the shape of short run cost curves

only
Choose the correct answer !
(1) (A} and (B} only (2} {A), (B) and (C) only
(3] (D)) only (4] (A) only

Assume that total revenue of a firm 1s Rs, 1,000, exphoil cost 15 Rs, BOO and
normal profit is Rs. &0, then the economic profit of a [irm is :

(1) Rs. 200 (2 Rs. 120

(3 Hes. 2530 (4) Ry, 920

DL-316-ECO—A 3 LG
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Which of the following is aof an assumption of pure compelition ?

i1l Perfect moebility of [actors of production
Py Produect homogeneity

8 Free entry and exit of firms

=5 Profit. maximisation

Under perfect competition, in the long run, if the industry experiences eonstant
costs then :

(1) The long run supply curve is an upward sloping straight line
2] The long ran supply curve is parallel to vertical axis
i3 The long run supply curve is parallel to horizontal axis

(41 The long run supply curve is a downward sloping siraight line
Assertion (A) @ The imposition of lump sum tax on monopolist reduce his excess
profits,

Reason (R) : The imposition of lump sum lax on monopolist will inerease his
total fixed eost.

Choose the correct answer

(1) (Al and (R) are true. Bul (R) is not the correct reason [or (A

() (A) and (R) are true. (R) is the correct reasan for (A)

(3) (A ba true, but (R 1s false

i4) (A) 15 [alse, but (B} 15 true

Which of the following moedels assumed that one duopolisl (s sufficiently
sophisticated to recognize his rival’s reactions ?

(1) Cournot’s traditional duopoly model

{2y Bertrand’s duopoly model

(3 Stackleberg’'s duopoly model

(4) Edgeworth’s duopoly model
Match the following Set-X with Set-Y ;
Set-X ' Sel-Y
(4)  Bilateral Monopoly (1) Kqumlibrium is determinate
(B} Monopolistie exploitation (Il Excess of VMP over MRP
(") Monopsany (IIT)  Equilibrium is indeterminate
(I Monopsonistie exploitation (IV)  Excess of MRP over competitive

wage
Note : VMP = Value Marginal Produet; MRP = Marginal Revenue Product
Choose the correct answer :

(1) A-TIT B-II C-1 D-1V

(21 ATV B-IT1L C-11 D-1

(31 A-TV H-111 C-1 D-11

(1) A-111 B-IV C-1 Bl

In relation to cireular flow of income, evonomic transactions generate :
15, Money flow only

() Heal flow only

{3) Goods and services {low only

(1) Real and money flows

D-316-KCO0—A 1
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Assertion (A) 1 According 1o Keynesian theory of consumption, the short run

consumption funetion is linear.

Reason (R) : Aceording to Keynesian theory of consumption, Marginal Propensity

to Consume decreases with an increase 1n Income,

Choose the correct answer :

i1} (A} and (R) are true. But (R) is not the correct reason for (A)

() tA) and (H) are true. (R) iz the correet roszon for (A)

{31 {4) 15 true, but (R) is false

4 (A) 18 false, but (K) 15 true

Which of the following statements about investment are nof true ?

(A} Gross investment is equal to the sum of nel investmenl and replacement
investment

(B}  Net investment in current year is the sum of the capital stock in current

' yvear and the capital slock in previous year

(C)  Gross investment iz equal to net investment, if replacement invesiment
iz zero

(D) Gross investmentl is positive, il negative net investment is equal to
replacement investment.,

Chonse the correct answer :

(1) (A) and (D) only () {B) and (1)) only
(3 (B), 1€} and (1)) only {4) (A} and (€] only
Match the following Set-X with Set-Y
Set-X Set-Y
(A} Pigou's eash balanece equation (1 Treated money as any other

durable good

iB) Modified version of Fisher's equation (II} Neo-classical version of
guantity theary of money

(C)  Keynes' quaniity theory (I} Contra-quantity theory
gausation argument

(DY Friedman's restatement {IV) Inecome version of guantity
theory of money

Choose the correct answer .

(1) A-1l B-11I C-I D-IV
(2) A-TV B-111 €-11 -1
{3 A-11 B-1V C-11 -1
(4} A-TII B-IV C-1 D-I1

What is the rate of inflation between 2016-17 and 2017-18, if the price index
number for 2016-17 was 2098 and the same for 2017-18 is 2366 7

(1} 12.77% {2 11.32%

(3 B 00, id) B.42%

DL-316-ECO—A 5 2
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Assertion (A) @ With every additional onit of tax raised by the government,

the burden of saerilice by the society inereases continuously,

Reason(R) ; With every additions! unit of public expenditure, the amount of

benelit {o society increases,

Choose the correc! answer |

i1} (A) and (R} are truc, But (/) iz nol lhe correct reason for (A)

{2 (A and (R} are true, () s the coreeel reaszon for (A

(3) (A 1g true, but (R) 15 falzse

(4] tA) 18 Talse, buot (R e true

The nature of public finanee, in relation to economic development, in under-

developed countriez is known as

(1) Reactivation finance (21 Aclivalion [nance

3y Policy finance idi Performance finance

Which of the [ollowing stalementz about the taxes are true ?

{A) Ad Valorem tax 1z levied as percentage of value of a ecommodily

(B Speeific tax 15 levied on the basis of either weight of a commaodity or per
unit. of commodity

(Cy  Specific tax is levied as percentage ol value of a commodity

(D Ad Valorem tax is levied on the basiz of either weight of a commodity
or per unit of commodity

Choose the correcd answer ;

(1l (A), (C} and (D) only [ (B) and (1) only

B (13, (C) and (D) only (4 (A) and (B) only

Which of the following 1 aol a canen of public expenditure ?

{1} Canon of equitable distmbution (2] Canon of sanction

(3 Canon of convenience {4} Canon of productivity

DL-316-ECO A 6
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The Fifteenth Finanece Commissien of India will give recommendsations Tor
devolution of taxes and olher fizeal matters for five years, commencang from |
(1) 1st April 2021 (2} lst Apnl 2020

3] 1st April 2019 (4} Ist April 2022

The chairman of a Beview Committee et up by the central government. in the
vear 2016, to evaluate FRBM Act 2003 is

1) N.K Singh 2} Arvind Subramanian

{3) Uit Patel 4} Dr. Rathin Roy

What Lypeftechnique of budget that the government should follow in times of
economic depression ?

(1) surplus budget (2) Balanced budgel

(3) Defieit budget i4) Revenue budget

Which of the [ollowing is nof an assumplion of Heckscher-Ohlin maodel of

international trade 7

1) Labour and capital are perfectly mobile between industries within the
country
{2) Presence’ of imperfect competition in commodity and factor markets

i3 Production functions yield conatanl returns Lo scale

(4) Labour and capital are perfectly immobile between countries

In the year 2017, the hypothetical values of price index of India's exports is
156, imports is 166 and the income terms of trade is 112,77, Then the guantity
index of exports is :

(1) 106 {2 90

{3) 144 {1) 120

Fized exchange rate system collapsed in the wear

(1) 1880 (2) 1971

i3) 1944 (1) 1914

|
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Given the Marginal Propensity Lo Save (MPS) and Marginal Propensity to Import.

(MPM), foreign trade multipber is egual to -
I - 1+ MPs

MBS - MPM 21 NP5 - MPM

1+ MP5 _ !

MPS + MPM 4 MPS + MPM

Which of the following stalements are true 7

(A)  U.B. dollar deposits in banks outside United States, including foreign
branches of 1.8, banks are called curo-dollars

(13) IMF provides assistance to member nations to tide over fundamental
disequilibrium in balanee of payments

(0 IMF provides assistance to member nations for infrastrueture development

(0 IBRD provides assisiance to member nations lor reconstruetion and
development of their economies

Choose the correct answer

(1) (A}, (C) and (D) enly 2 (B, (€ and (1)) oniy

(3 (A}, (B) and (1)) only 1) (A} and 1B) only

Since the vear 2010, in Human Development Report, Human Development Index

is defined/measured in terms of :

i1)

(3]

(1}  Geometric mean of dimension indices
(2} Harmonic mean of dimension indices
(3 Weighted zrithmetie mean of dimension indices
{4} Composite arithmetie mean of dimension indices

Who among the following delined ‘optimum pepulation is that which gives the
maximum income per head' 7

(1 I.. Robbins (2] Robert Malthus

{3 Carr-Saunders (4} Dalton .

According to Karl Marx, which of the following is one of the reasons for falling
rate of profit, in the long run, in ecapitalist economies 7

{1 Fall in eorganic composition of capital

(2] Rize in organic composition of capital

(3 Elastie supply of labour in the short period

(4] Over-consumption

Mateh the following :

Economist Concept

(A}  Schumpeter (1) Coneept of frontier spirit

(B  Rostow (II'  Concept of stimulants and shocks

((2y  Hsansen (1)  Concept of vreative destruclion

(D)  Harvey Leibenstein (1¥) Concept of Supplementary growih
spelors

Choose the correct answer :

(1 A-11 B-III C-1 D-IV

(2) A-TV B-111 C-11 -1

(3 ATTT B-1V C-1 D-II

(4) A-T11 B-IV C-11 -1

A g




o

ot

3.

40,

41-

Who amonyg the following favoured the setting up of last industries first’ to achieve
economic growth ?

(1) Nelson (2) Hirschman

i3 Hans Singer i) H.H. Boeke

According to Joan Robinson, in a closed economy, golden age implies :

(1) Steady growth with [ull employment where desired rate of aceumulation
15 less than the possible rate of accumulation

(2] Steady growth with full employment where desired rate of accumulation
is more than pessible rale of accumulation

(3] Steady growth with full employment where desired rate of accumulation
is equal to possible rate of accumulation

(d) Steady growth with unempleyment where desired rate of aecumulation

is equal to possible rate of accumulation

Whirh of the following statements with regard to India’s population are trie 7

{A) The absolute increase i1n India's population during 2001-2011 was 14,12
crore approximately

(B}  Annual growth rate of population of India during 2001-2011 was 1.64%
approximately

(€} The absolute increase in India's population during 20012011 was 15.12
crore approximately

(D)  Growth rate of population of India during 2001-2011 was 1.04% approximately

Choose the correct answer :

(1) (A}, (C) and (D) only (2 (B) and (C) only

(3] {A}, (B) and (D} only (4) (A} and (B} only

Which of the following 15 nof one of the immediate objectives outlined in National

Population Policy-2000 2 '

(1) To reduce the total fertility rates to the replacement level

(2} To meet the needs of contraception

(3 To 1mprove the health infrastructure

(4) To provide basic reproductive and child health care

Mateh the following :

Scheme Year of launching
LA Pradhan Mantn Ujjawala Yojana (11 2017
(Bl  Janani Suraksha Yojana (IIy 2016
() Swaechh Bharat Mission (LI 2005
(D)  Pradhan Mantri Matru Vandana Yojana (IV) 2014
Choose the correct answer .
(1) A-11 B-111 C-1 D-1V
(2) A-TV B-111 C-I1 D-I
(3] A-111 BV -1 [3-11
(4) A-T1 B-111 C-1IV D-1

D1-316-KCO—A 5 PTO



12 The average growth rate of GDP in India for the period from 2014-15 to
A17-18 was

i1 6.6 percent (2} 6,75 percent
3y 7.3 percent (4} 7.7 percent
43. As per the Economic Survey 20017-15, the percentage of total population living

below the poverty line, measured by using headcount ratio method, in India in
2011-12 was |

(1} 219 percent (21 25.7 pereent
3 14.7 percent (4] 19.9 percent
44, Which of the [ollowing statements are nof frue 7

iA)  In India, in 2015-16, the rural work participation rate was 41.8%
B} In India, in 2015-16, the urban work partieipation rate was 5U0.5%
i) In India, in 2015-16, the total unemployment rate was 7.7%
(127 In India, in 2015-16, the urban unemployment rate was 4.4%

{Thoose thoe correct answer

(1} (A}, (C) and (1)) only (4] (A), (Bl and (C) only
i3 (B} and (1) enly (4} (A] and (B) only
45. Eeonomie Survey 2017-18 identified ten new facts about the Indian Feonompy.

Which ene of the following is not a parl of ten new facts ?

i1 Large incregse in regisiered direet and indirect tax payers

(2} Formal non-apricultural payroll much greater than believed

{3y To re-ignite growth, raising investment is more important than raising
saving

i4) Abzence of son ‘meta’ preference

46. Which one of the following is Llhe idew/aim of Universal Basic Income (UBI) ?

(1) Wipe out a few tears from every eye
(2] Wipe out every tear from a [ew eves
(3] Wipe out every tear from every eye
() Wipe out a few tears from a lew eves
47. Which of the following is nof a cause of income inequalities in India ?
(1) Equi-distribution of land ownership
2] Cloncentration of assets in private corporate sector
(8} Inflation and the censequent price mse
4] Urban bias in private investment

DL-316-ECO—A 10
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Assertion (A) : In [ndia, through five year plans the government generally fizes
targets even for those zectors over which the governmenl haz no control
Reason (BR) : In India, the manapement of entire agriculture sector is in the
hands of private sector.

Choosze the correct answer |

1) (A) and (R) are true, But (R) iz not the eorrcet reason for (A

(2)  (A) and (H) are true, (R) is the correct reason for (A)

3) {A} is true, but (H) is false

id) (A} 15 false, but (K) & true

Which five year plan of India aceorded the highest priority to removal of

poverty ?
L) First five year plan (2} Second five vear plan
i3 Third five year plan {4} Fifth five year plan

According to Eeonomic Survey 2017-18, in the vear 2011-12, the urban share of

food expenditure at sll India level was around :

(1) 24 9% (2} 42 6%

(3 44 4% (4 57.4%

As per the Fourth Advunce Estimates for the year 2016-17, released by the

Department of Agriculture, Co-operation and Farmers® Welfare, GGovt. of India,

the total food grains production is around

1) 265.7 million Lonnes (2} 258.7 million tonnes

(3 275.7 million tonnes {4) 285.7 million tonnes

Which of the following statements are frue 7

(A)  Agriculture sector has been witnessing a gradual structural change since
2011-12.

(Bl Since 2011-12, the share of live stock in Gross Value Added from agriculture
has been rising gradually.

(C)  Binee 2011-12, the share of crop sector in Gross Value Added from
agriculture hag been declining gradually.

(D Sinee 2011-12, the share of fishing and aguaculture in Gross Value Added
from agriculture has been constant.

Chooge the correet answer @

(1) {A), {C) and (D) only (2 (B} and (C) only

(3 {A), (B) and (13} only (4) (A), (B), (C) and (D)

DL-316-ECO—A 11 Al
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By the vear 2022, the central governmenl aimed at achieving one of the

following

i1} Dachle the [ved grains production

(2 Dovble the income of farmers

A Double the total irrigated area

i4) Double the employment opportunities

When was Central e-NAM launched by the Indian government 7
i1} April 2016 (2) January 2018

i3 June 2016 id) Oetober 20165

Assertion (A) : The economic cost of wheat and rice procured by FCI registered
significant inerease since 2012-13.

Reason (R) : The minimum support price and procurement and distribution
costs of wheat and rice are on the rise since 2012-14.

Choose the correcd answer

(1) {A) and (R} are true. Bul (R} is not the correcl reason for (A)

2] (Al and (B are true. () is the correct reasen for (A)

{3 {A) 15 true, but (R) 15 falze

14 {&) iz false, bul (R} i5 true

Which one of the following is considered us the base year for the Index of Industrmal

Production (IIP) at present in India 7

(11 2004-05 (2)  2010-11

() 2011-12 (4} 2017-18

Match the following :

Name of Project/Program Natlure of project/program

(A} Bharatmala Panyojana (1) To make flying accessible and
affordable

(B} Station Redevelopment (I} To promole port-led development

(Cy UDAN (I} Highways development

(D) Sagarmala (IV} Commercial development of
railways

Choose the correct answer :

(1] A-TI B-T11 C1 D-IV

{21 A-111 B-IV -1 N-1l

(31 A-II B-IV C-111 D-1

(4] A-TT1 B IV C-11 -1

How much pereentage of gross value added growth rate of India in 2017-18 was
contributed by the service sector ?

{1 05.2% (2} a0.2%

i3) 65.2% i4) T2.5%

DL-316-ECO--A 12
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Which of the following iz not a leature of 1991 Industrmal policy ?

(1} Prime 1mportance to publie zector in industrial aeclivity
2 Abolition of industrial licensing

(3} Bemuoval of stringent provisions in MHTP Act

(4) Recducing the role of public sector in industrial activity

Which of the following services was introduced by the Telangana sovernment
to transport pregnant women for antenatal check-up, deliveries and
immunisation 7

() 1047 Bervice (2] 112 service

(3] 102" service (4] 1073 service

The urban population in Telangans state as percentage of its total population
in the vear 2011 was :

11) 31.15% [ T RaTaks

13) 40.18% (4} 20.99%

Match the following with regard to per capita incume in 2016-17 at current prices

in Telangana ;

Distriet Per capita income in 2016-17 at
current prices (Fig in Rs)
(Al Hyderabad (1) Rs, 3,15,745
(B Peddapall: (11} Bs. 1,04,660
() Nalgonda (1) Rs 129723
(D} Rangareddy {1Vl Rs 3,688,747
Choose the correct answer :
i1} A-IV B-11 C-111 D-1
i2) A-l B-I11 C-1V D-1I
(3} AT B-1T1 C-11 D-IV
i4) ATV B-111 C-11 D-1

In order to provide medical, legal and psychological support services under one
roof Lo women survivors of viclence, the 'l'elangana State government establiched
(1) Sukhi centres (2) Women welfare centres

{3) Aasara centres (4] Economie rehablitation centres
In the year 2016-17, the arca under forests in Telangana stale as percentage
of ils total geographical area was .

(1) 22.07% (2] 23.07%

(3] 24.07% (4] 25.07%

DL-316-ECO—A 13 P.T.O
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Which of the following statements with regard to food grains in Telangana are

irue ?

(A)  The estimated food grains production in Telangana in the vear 2017-18
was 82,01 lakh tonnes.

(3) The estimated foeod grains production in Telanganas in the year Y017-18
was 9501 lakh tonnes.

(31 The estimated area under [ood grains in Telangana in the year 201718
was 21.87 lakh heectares

(D)  The estimated area under fond grains in Telangana in the year 2017-18
wus 31.87 lakh hectares

Choose the vcorrect answer !

(1} {A}) and (D) only (2 i3y and (D) only

(3) (A}, {B) and (D} only {4) (B, (C) and (D) only

Telangana state government proposed to construet a barrage at Medigadda village

across which river ?

(1} Krishna (2) Penganga

(3 Manjira (4) Godavari

Which one of the following manufacturing sub-sectors contributed 32% of total

industrial GVA of Telangana state in 2014-15 7

(1) Cement industry (2) 'lastie industry

(3 Pharmaceutical industry 4) Machinery industry

The Telangana state government launched Telangana Textile and Apperal olicy

{T-TAP) in :

(1)  August 2017 (2)  August 2016
{3 November 2014 {4 January 2018
T-IDEA scheme of Telangana government is related to :

(1) Eneourage the use of handlooms

{2 Fnecourage electronics industry

{3) Fnecourage indusirial entreprencurship

4] Eneourage MSME zector

Which of the following policies of Telangana government aimed at making
lyderabad an ideal destination for gaming, animation and visual effects industry 7
(1) E-waste policy (2 IMAGE Poliey

(3 Open data policy {4) IoT Policy

The total installed capacity of solar power of TSGENCO as on 31st December
2017 was @

(1) 10.0 MW (2] 4.0 MW

() 0.5 MW i4) 1.0 MW

DL-316-ECO—A 14
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Which of the [ollowing doruments provides information on {ourist places in

Telangana state ?

{1 Padya Chitramala {21 Kavya Chitramala

{3) Raaga Chitramala (4] Katha Chitramala

Which of the following is nof o restricted random sampling method ?

(1) Judgement samplhing method (2) Clusler sampling method

(3) Systematic samphng method i4) Siratiied sampling method

Assertion (A) : Collecting primary data through direct interview method is suitable

[or extensive field survey rather Lhan intensive field survey.

Reason (R) : Chances of personal prejudice and hias are grester under direct

interview method of collecting primary data compared to other methods of

collecting primary data.

Choose the correct answer ;

(1) (A) and (R) are true. But (R) is not the correct reason for (A)

(2) (Al and (R) are true. (R} 13 Lhe correct reason for (A)

(3] (LAY 15 true, but (K} is falze

{4} (A) is false, but (R) is true

The income of five employees are given as Rs. 500, Rs. 600, Re. 700, Rs. 800

and Rs. 900, The median income is :

(13 Rs. 650 (2) Rs.

(3) Hs. 600 i4) Rs.

Which of the following statements are true v

(A) Histogram is a =et ol vertical bars whose arcas are proportional to the
[requencies represented

oo
)

o =

(B)  Two-dimensional diagrams are also known as surface diagrams
(C)  Square iz an example of arca diagram

(In Pie diagram iz & sel of vertical bars

Choose the correct answer :

(1) (A) and (D} only (2) (B) and (D) only

(3) (A), (B) and (] only {4} (B), {C} and (D) only
Symmetrical distribution is a type of distribution in which :

{1) Mean = Median > Maode (2} Mean = Median = Mode
(33 Mean > Median > Maode () Mean « Median < Mode

The value of coefficient of variation is 2028 amd arithmetic mean is 42.4. The
value of Standard Deviation is

(1) 8.6 approximutely (2} 12,12 approximately

(3} 22.12 approximately (4) 9.6 approximately
Which of the following is not a method of studying correlation ?
(1) Graphic method (2} Seatter diagram method
{3 Least squares method (41 Cartogram methnod
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Which of the following is lrue in relation to regression equation ¥ = ¢ + 6X 7
{1 Y is the independent vamuable (2) X 15 the dependent variable

(3 ‘n’ is “Y-intercept’ {4} Wois CY-inlercept

Assertion {A) i The value of correlation coefficient iz equal te the under-root
of the product of twa regression coefficients.

Reason(Il) : The value of correlation coefficient may be more than one.
Choose the correct answer .

(1) (A) and (R} are true. Bul (R) is not the correcl reason for (A)

(2 (A) and (R) are truc. (R) is the correct reason for (A)

{3) (Al 18 true. but (R} iz false

(4} (A) 15 falze, but (R) 1z true

In Laspeyre's method of construeting price index numbers, weights are determined

by

(1) Quantities in the base period
{2) Quantities 1n the current period
(3 Prices in the base period

(4} Prices in the current period

Which of the following is theoretically considered to be the best average [or
constructing index numbers ?

(1) Harmome mean {2 Simple arnthmetic mean

(3) Mode {4) Geometric mean

What is the shape of logistic curve generally used lo measure sceular growth

trend ?
(1} L shape : (2) S shape
(3) Inverted J shape (4) Inverted U shape
Match the following Set-X with Set-Y
Set-X Set-Y
(A} Any number divided by zero is equal to i1 One
(B}  Zero divided by zero is equal to (IT}  Indeterminate
(C1 Zero divided by any number 1s equal te {111} Infinite

IV, Zero

Choose the correct answer from the following

(1) ATV B-1 .11

(2)  A-TII B-IV C-11

(8 AII B-11 GOV

4} A-TI B-1 -1V

An equation having its highest power as 2 is called as
(1) Linear equalion (2) Cubic eguation
(3) Bi-guadratic 4 Quadratic
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The zecond order condition for maxima 1z

(1) second derivative of a function should be negative

(2] Becond derivative of a [unction should be positive

3 Second derivative of a function should be zerao

4] Sccond derivative of a Tunclion should be between zero and positive

Which of the following is an item of latnlities in the balanee sheet of g commercial

bank ¥

1) Advances {4 Deposils

i3] Bills discounted 4] [nvestments

Which of the lollowing instruments of monetary policy is used to control the

voiume af credit availability in the economy ?

i1) Vuariations in margin requirements

L) Moral suasion

(3 Open market operations

4} Credit rationing

Which of the [ollowing statement/s isfare true ?

A} The Industral Finance Corporation of India was the first development
bank established in india in 19487.

(13 Industrial Development Bank of India was the first development bank
established in India 1n 1955.

{C})  Export-Import Bank (EXIM} was eslablished in 1992

{D} Industrial Credit and Reconstruction Corporation of India was renamed
as ICICI Banhk.

Choose the correct answer ;

(1) (A) enly 121 (D) only

{3} (B} and (C) only i4) {A), (Cy and (D)) only

Which of the following is considered ss an apex organization in rural credit

structure in India ?

(1) Central Regional Rural Bank

(2) State Agricultural Coe-operative Bank

(2] National Agricultural Co-operative Dank

4] National Bank for Agriculture and Hural Development

Net income received from the purchase of treasury bill iz equal to :

(1) The sum of foee value and the i1ssue price of treasury hill

(2) The sum of redemption value and the izssue price of treasury hill

(31 The difference between the redemplion value and the face value of treasury
bl

i4} The difference between the redemption value and the 1ssue price of treasury
bill
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Mateh the following Set-X with Set Y with regard to eapital market in India

Set-X Set-Y
(Al Prelerence shares (1) Coupon rate
(Bl Bonds (I1) Do not carry voting rights
(C) Dervatives (111}  Futures
(1 Equily shares (IVl Carry voling rights
Chooze the corrert answer ;
(1) A-TV B-11 -1 D-11
(2) A-TD -1 C-I11 D-IV
(3) Al B-11 C-1V 131
4} A-ll B-1IT -1 D-1V
Which of the following 15 a renewable source of cnergy 7
(1) Fossil fuels {2 Coal
{3) Wind energy 1) Natural gas

Expenditure on education by the central and state governments, as percentage
to GDP of India, in the year 2015-16 was ;

(1) 2.4% (23 1.1%

{(3) 5.8% 4] 2.2%

What percentage of total road length of India, accounted for by national highways/
express ways as on September 2017 7

(1) 5.06% (2] 4 .065%

(3] 1.06%: (4] 2.065%:

Which of the following 15 nof a biotic faclor in our natural environment 7
(1) Sunlight i) Fung

(3) Heterolrophs (4) Bacteria

Which one of the following international commissions/organisations published
the report on *Qur Common Future’ which popularised the concept of sustainable
development 7

{1) Global Environmental Commission

(2) [Inited Nations Environmenial Commission

{3 Brundtland Commisszion

i) United Nations (Green Environment Commission

Who among the following is asseciated with the work ‘The Trogedy of the
Commaons 7

1) Nicholog Olzon i2) Garrett Hardin

{(3) William Daly (4) Harry Nicholson

Which of the following 15 anf a conzequence of global warming problem 7
(1) Melting of glaciers and ice caps

(2) Shortage of fresh water in arid and semi-and areas
(&) Adverse impact on agricultural production
(41 Positive impact on human health

DEL-316-ECO—A 15



Space for Rough Work

DL-316-FCO0—A 19 PT.O



Space for Rough Work

DL-316-ECO—A 20



	0001.pdf (p.1)
	0002.pdf (p.2)
	0003.pdf (p.3)
	0004.pdf (p.4)
	0005.pdf (p.5)
	0006.pdf (p.6)
	0007.pdf (p.7)
	0008.pdf (p.8)
	0009.pdf (p.9)
	0010.pdf (p.10)
	0011.pdf (p.11)
	0012.pdf (p.12)
	0013.pdf (p.13)
	0014.pdf (p.14)
	0015.pdf (p.15)
	0016.pdf (p.16)
	0017.pdf (p.17)
	0018.pdf (p.18)
	0019.pdf (p.19)
	0020.pdf (p.20)

